B.A./Part-II11/Hons./SOCA-V/2017

WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017
SOCIOLOGY-HONOURS

PAPER-SOCA-V

NEW AND OLD SYLLABUS
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 2Nf8F T JUZ TN I 07 3671
Candidates should answer in their own words A (e ST I G TN W
and adhere to the word limit as practicable. 87 AR/
New Syllabus
Group-A
Rem-=
I. Answer any one question from the following within 1000 words: 12x1 =12
frafeie @-iq @@ 6 avim B3 Sooo *Itwr s et
(a) Write a note on deductive-inductive theory construction. 12
SAR-SICAIL) OTE T B2 451D i g
(b) Briefly discuss the role of ethics on social research. 12
A& IR (AT G 20 FRUFLoA G 7 |
2. Answer any two questions from the following within 400 words each: 5%2=10

feleTRe - 715 tas Bea 2l soo i3 e fs
(a) Define grounded theory of hypothesis formulation.
24 5190 T (2R ©g A1yt et |

wn



— == FORMAT 18 W/TURN

B.A./Part-111/Hons./SOCA-V/2017

(b) What is proposition?
Rafefae
(¢) What is meant by quantitative research?
SHfAANS 97N TS & (R0 2
(d) Trace the importance of values in sociological research.

FANCTOGE NITN AR 2% HZ© T

Group-B
faom-q

3. Answer any one question from the following within 1000 words:

frsfeiie @-@m 36 2ivsm Ted sooo W sy faas
(a) What are the components of survey? Discuss the types of survey.
ez Rfow Trimma & & 2 Rion e Arda s S a4

(b) Write a note on various types of probability sample.

ffen @t et e TR ok B o

4. Answer any two questions from the foliowing within 400 words each:

frsiete (@-cei 6 efve Teg afef soo *itwa Ty s
(a) What is meant by population?

HAF IS [ QR T 2
(b) Write a short note on snow ball sampling.

QAR A1 &30 @3 51l o1
(c) Define conceptualization.

aietsrsm Rl arn v

(d) What is experimental group?

ST (M3 1 9

o]
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Group-C
Rt-at
5. Answer any one question from the following within 1000 words:

el @-@W @ 2087 $ed dooo 2w Wy e
(a) Discuss the rules of interview.

RIS RCERSICERCLE A GRSl
(b) What are the steps of observation?

e Rfon e B &y

6. Answer any fwo questions from the following within 400 words each:

feafeie @-@ 77 eoim T afS soo =it Wy s
(a) Write a short note on telephone interview.
VRO AP &0 @B Bt o
(b) What is pretest?
Ao 9
(c) What are the advantages of using questionnaire?
2P R R Ry
(d) Define nonparticipant observation.
GRS 2RI AT A |

121 =12

Sx2 =10
5
5

L
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Group-D
fRetot-1

Answer any one question from the following:
iR - oo etis Tez frms
{a) Calculate the measures of central tendency from the following data:

NH O (AF (FHT &I Aot Wl weae

Age 10-19 20-29 30-39 40-49 50-59 60-69 70-79
Frequency 17 12 13 28 13 7 10
(b) Calculate the values of Quartile Deviation and Inter Quartile Range from the
above data.
TR O (RLF  Quartile Deviation @R Inter Quartile Range-43 W fAefy
FEA|
& Answer any fwo questions from the following within 400 words each:

frafeRe - 7f6 eois Ter &l soo =itwa sy fims
(a) Write a short note on ogive.
Ogive-a3 o7 @3 W e B g
(b) What is meant by frequency distribution?
*HfFR Ao / frequency distribution 35S & @RMT?
(¢) Define report writing.
aferawa fore RRaafb e w4
(d) What is variance?

Variance / (SRI% T AE?

12x1 =12

12

10+2

5x2=10
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Group-E
fremt-e

9. Answer any six questions from the following within 100 words each:

feferie - 2fb 2via Tea afo soo =it Wy fwes

(a) What is dependent variable?
ICCERIGR A

(b) What is statistic?
Statistic & ¢

(c) What is composite mean?
WY TG F 9

(d) Define content analysis.
FAH0 SPAA I IS B @RI 9

(e) What is mean?
%1% /mean & ¢

(f) What is open end question?
& e B 9

(g) What is meant by bar graph?
RS/ IS F @RI 9

(h) What is questionnaire?
PRI FIS A0 ¢

(i) What is meant by hypothesis?
2FE IS 3 (QRTAN T 9

(j) What is measurement?
“AfAsTI= TeT0S & (@RI 2

2x6=12
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Old Syllabus

Group-A
om-7

Answer Question No.1 and any two from the rest
> W2 o G O] (B-CFA 7fp ervea Tea fvw

Write short notes on any four from the following:

e - oA R Boim e Bret orgs

(a) Traditional authority

ST FEY

(b) Derivation

Frare

(c) Dyad and triad

(FOIFE g R I

(d) Non logical action of Pareto

(e) Affectional action of Weber

STHAIET Haere {&a

() Interaction of Simmel

e wre el

(g) Verstehen

3110

SR

Define the concept of authority following Weber.
ST ST FECLR LIRN I 2T |

5x4 =20

15
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3. Write a note on Pareto’s notion of circulation of elites. 15

ST TG 20X O YRR 897 @ {6 Bt forgel|

4. Briefly discuss Simmel’s notion of forms of association. 15

o eiza FEe 29 e 4 i IF)

5. Explain Pareto’s notion of residues and derivations. 15

SR / YT S a2 ARG LIRel IR FFA

Group-B
fetet-4

Answer Question No. 6 and any fwo questions from the rest
o TR P 9RO (B-CII 15 AT Taa fuw

6. Write short notes on any four from the following: 5x4 =20
e - brafe Rae ev= e Bt forgas
(a) Dialectical approach of studying Indian society
(b) Methodology of D.P.
13,547 o imn
(¢) Tribal absorption method
Trrefe ergieae Aate
(d) Creative disequilibrium
FGTRTE BiREeT
(e) ‘Purusha’ of D.P.
6.5.-3 @ o7

~1 1N - Turn Over
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(f) Sarkar on East
A1B] AKX AP

(g) Two features of caste system following Ghurye.

7.
8.
9.
10.

£

E

S

®

. 3110

=

T

2

!

[

YRR SR TSR 7o (3T |

Explain D.P.’s concept of social change.

%51, -3 4ot SIepncE ANE RIS 1 I

Discuss Sarkar’s notion of Indian tradition.
SR AfSgy 2HH TP LG SIS FF |

Define concept of sociology following Ghurye.
LIS ST FAGRSTES D7l N T3+ |

Write a note on various approaches of studying Indian society.

SRS FE 1IN Rfew Toqm 2 bt e

15

15

15

15
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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017

SOCIOLOGY-HONOURS
PAPER-SOCA-VI
NEW AND OLD SYLLABUS

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. &8 T Z SR Y A 031
Candidates should answer in their own words VI [A0er OIRT TR TG A W
and adhere to the word limit as practicable. ©eq IR
New Syllabus
Group-A
Ton-5
1. Answer any one question from the following within 1000 words each: 12x1 =12

formfeRe (3-F17 @36 2tam §ea sooo 3 ey ey
(a) Analyse Swami Vivekananda’s concept of state and class rule.
HIN REFHTE TG 8 I =0T et Rosae) w6 |

(b) Discuss Mahatma Gandhi’s concept of education.
T ST R e S T

2. Answer any two questions from the following within 400 words each: 5x2=10

femferie @-@Im 76 et Tew 2fef goo it Wy s

(a) Rabindranath Tagore’s concept of cooperative.
AN JIFCIR FAACT Q17N |

(b) Swami Vivekananda’s thoughts on socialism.

TN R Feres 7= Hed)

3111 1 Turn Over
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{¢) Swami Vivekananda on social progress.
e @eife e T Regsta )

{d) Mahatma Gandhi’s views on Hind Swaraj and Village Republic.
FEw-TE @R AN AT TN FZ AFF TS |

Group-B
Remi-4
3. Answer any one question from the following within 1000 words each: 12x1 =12

fFrefeiRe - 96 2407 Tea Yooo Fa Wy was

(a) Discuss N.K. Bose’s approach to the study of society.
@, (3, R G SIHCAR TS S T2 |

(b) Discuss the concept of Buddhism following B. R. Ambedkar.
R, 97, SCIMIER PR ({4 S e a6+

4. Answer any two questions from the following within 400 words each: 5x2=10

et - 76 e T &fSft 8oo *tam Wy frmts

(a) N.K. Bose’s concept of Hindu society.
T2 T FAA0 @1, (. (AR 4R
(b) N.K. Bose’s concept of tribes of India.
RIS TAGIS FA(E G, (F. QITT 4l |
(¢) B.R. Ambedkar’s views on caste based society of India.
SISY TSISEE A 7 R, SE, WCMIIIR TS |
(d) B.R. Ambedkar’s ideas on class and democracy.
GHA! @ oI T 3, SR, SCFAFIC 4l

Group-C
frsi-at
5. Answer any one question from the following within 1000 words each: 12x1 =12
ffeTie @-@W B ez 88 sooo *T7 Wy e
(a) Analyse Binoy Kumar Sarkar’s ideas on positivism.
VB 70 R T RIS aigen fResrge 3

3111 2
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(b) Discuss religion after G.S. Ghurye.
fe. @, JCara SeprRee! o o e w3+

6. Answer any fwo questions from the following within 400 words each: 5x2 =10

i - 76 aivim Te afef soo wiam Wy e

(a) Binoy Kumar Sarkar’s ideas on ‘the spirit of the naughty’ and * creative
disequilibrium’.
T P IR TINER TR G STaeT SIEEers iaei |

(b) Binoy Kumar Sarkar’s concept of progress.
2offS SN Revs PR SRR 41|

(c) G.S. Ghurye’s views on ‘backward Hindus’.
“opsieein o SE TS, @31, e oS

(d) Indian caste system after G.S. Ghurye.
&, 3. QLR SR SRS T I |

Group-D
et

7. Answer any one of the following question within 1000 words each:

RS - 36 @i T Sooo = Wy frs
(a) Discuss D. P. Mukherjee’s concept of personality.
g 37oF 1. o1, qUSila 4z wets w2 |
(b) Analyse M. N. Srinivas’ views on social change in India.

O AW e 7o @ %, 9w, AT Totre R 3z

-
rN
X
Fad
!
pnt
b

8. Write short notes on any two from the following within 400 words each: 52 =190

e @-co 76 Raca Bt forgere (2SS soo =1 sway)

(a) D.P. Mukherjee’s understanding of Indian tradition.
SIRSR T STy 7o . 1, qardia arem
(b) D. P. Mukherjee’s concept of sociology.

FErSH I 15, 51, TASH7 et
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{c) Salient features of Sanskritization.

RO wFgo (AT

(d) Short note after A.R. Desai on contradiction in the Indian process of social
transformation since independence.

RO TN (AF ORCed ANET e AfefEng srrsig-Ruafder wi
9, T, (1R S R B fevg

Group-E
faermt-e

4, Write very short answers to any six from the following:

WY @-Fi gafod e g Te s

{2) What do you mean by rural development?
AT 3770 6 A 9

{b) What is meant by equality?
T e QIR 9

{c) What is industrialism?
w9

(d) Define Tribe.
Toerifen st e |

{e) Define Vama.
Fefa e e

(f) What is meant by untouchability?
TPTS! 00 [ F @RI

{g) Define acculturation.
SR Rred ket =)

{h) What do you mean by middle class?
Ty @ T@Te & @ o

(i) What are the main features of dominant caste?
Sfsterier ires 7 ARt s

(j) What is ‘Nai Talim’?
o ifersr {9

2x6=12
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Ol1d Syllabus

Group-A
Remt-=

Answer Question No. 1 and any fwo questions from the rest

TffRe s a et @3 W - 415 e Bed e

1. Write short notes on any four from the following: 5%4 =20

eI Co-col B1ATS Recr B wkfiee Bt forgers

(a) LC.A.
i3, 9.1

(b) Homans’ Exchange propositions.
s R ez

(c) Concept of function.
& gl

(d) General arguments of functionalism.
feaRITe e elf$eiv Remmz)

(e) A.G.LL.
CRCAC XU

(f) Simmel’s influence on the development of conflict theory.
TRergs R feaees erer

(g) Necessary conditions of existence.

SRR AT TR |

2. Discuss the salient features of Malinowski’s functionalism. 15

it feraRicns Rerg iafiEref figa
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Explain the functions of social conflict following Coser. 15

(PIAER S S 7rad IR ATt FF |

Analyse the nature of Blau’s exchange theory. 15
NT-97 R wrge erpfe Reaze w1

Write a note on Merton’s criticisms of the basic postulates of functional 15
analysis.

IR (e 2B Ao+ 2WE TR T2 @36 5t forga|

Group-B
Remt-2
Answer Question No. 6 and any two questions from the rest

e © T et @3 T E-F 716 eTaE Bew

Write short notes on any four from the following: 5x4=20

P Ca-Gr 1S Racem ot e Bt v

(a) Culture Industry.

L ICARE

(b) Significance of Seneca Falls Convention.

L o TSR Siesfd|

(¢) The idea of postmodern.

Tan-Tiyfaer g

(d) Nature of feminist sociology

AR FTEreCes 2o

(e) Radical Feminism.

B WA

(f) General arguments of symbolic interactionism.

2SI FRRFTRITE (qieTe e RAPHR|

(g) Features of symbolic interactionism according to Herbert Blumer.

3111

QT IR oo 2 FfFmices i
6
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10.

3111

Discuss the basic concepts of critical theory.

FTRTABAL ©Tea o1 aaenafer Kot w0

Make a comparative assessment of the second and third waves of feminism.

@S @3 O 4K AN TS {1 e |

Briefly discuss Mead’s contribution to symbolic interactionism.

giolfF RrefFmaims S Rires Smia TR SNEba FF

Write a note on the postmodern critique of meta-narratives.

T2 T (Meta-narrative)-93 TG-S AR 77 @0 Bt oy

15

15

15

15
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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2017

SOCIOLOGY-HONOURS

PAPER-SOCA-VII
NEW AND OLD SYLLABUS
Time Allotted: 4 Hours Full Marks: 11:6
The figures in the margin indicate full marks. e TN F0E TG 26T [ 474
Candidates should answer in their own words S e ST el TSI SR A
and adhere to the word limit as practicable. &e7 IR
New Syllabus
Group-A
fastt-=
1. Answer any one question from the following within 1000 words: 12x] =12

fersferfie @-@m @316 2@ T3 vooo *itwd Wy s
(a) Discuss the nature and causes of poverty in Indian society.
SIS TS RIRHR &FFS @R FReIE SEAHH T |

(b) Write a note on secularism in India.

wReAd wffemrerwel e o St g

2. Write any fwo short notes within 400 words each: 5x2=16
@-@ 7o g B afel soo =g Wy forge

(a) Problem of communalism

HrEWRIOR o

3112 1 Turn Over
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(b) Caste and politics
TS ¢ AT [©

(c) Religious Conflict
SRR

(d) Corruption.

LGy

Group-B
fremt-<
Answer any one question from the following within 1000 words: 12x1 =12

fasERe @-@w 9ot 24rie Tea Sooo =3 Wy a2

(a) Discuss the problem and prospect of illiteracy-eradication programmes in
India.

oRreTE frrae wATad FHbaler T 6 TSR 7 QT T |

(b) Discuss changing priorities in marriage institution in contemporary Indian
society.

IS SRS FAICE RAR-SPIA AT eigiayafer Sieda 1

tas

4. Write any two short notes within 400 words each. 5x2=10
@1 %15 Rwe bt aifefb 8oo *Iterm W ferwe
{a) Changing role of family
(b) Impact of illiteracy on Indian Society
(c) The economy of marriage in India
ey Raiczs wedAife

(d) Homosexuality.

IS |

3112 2
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5.

Group-C
erat-at
Answer any one question from the following within 1000 words: 12x1 =12

fsfERe @-@W 9ot 2drie e Sooo 3 Wy ez

(a) Write a note on Growth versus Development debate in the context of
development in Indian Society.

SO FNCEe Reieeta @it 3 3am Rt Red [aw o= Bt forgn
(b) Discuss changing agricultural pattern in Rural India.

e ©IATe ARISTAE FHF 47 HACAGA 264 |

Write any two short notes within 400 words each: 5x2=10
@@ 715 =R B 2ol soo =itarm sy feryae
(a) Mahatma Gandhi National Rural Employment Guarantee Act

TR SN SRS et FORE st Sz
(b) Tribes in India

EECERCIIES 1]
(¢) Sustainable Development

AR T
(d) Crime in urban India.

9 SRS H2AY |

Group-D
frett-v
Answer any one question from the following within 1000 words: 121 =12

iR @-@W @# 6 2eer Tea sooo *w Wy s

(a) Point out the causes of suicide among young adults in Indian society.
SRS A A SRS Feiefet Trad F+1

(b) Discuss the problem of prostitution in India.
Sl »fSerien e Ram wieasH w1
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{a)

B

)
7

Write any fwo short notes within 400 words each:

ca-core 75 FKfee B efef soo iewrm Wy fergws
Cyber Crime

FEIE

Drug addiction

B

Pornography

“sirefianfa

Organisation of sex-workers.

(- a Ao |

Group-E
fTom-¢

Write any six very short notes within 100 words each:

- gAfS ot ke B aflb soo e Wy forgms

(4% White collar crime

()

(e)

g oY

i Communalism

et

Female illiteracy

Fragmentation of Family
=R A8

Hindu Marriage Act

foeg Rarg Wiz

Women workforce in Rural India
S SRS WK w3 AT

Quality of life of Rural people
e MR ST

5x2=10

2x6=12
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(h) Environmental pollution
AT el

(1) Slums
ik

() Hacking in cyber world.

HZIT TS i |

Old Syllabus

Group-A
feem-w
Answer question No. 1 and any two from the rest
> TR &Yl G O] (- ¥f5 @vaw Teq

1. Write short notes on any four from the following:
fasfeie @-cam srafe Rawrs o wfee Bt frgme
(a) Dominant Caste
Hifgererma oo
(b) Tribe
Torife
(c) Social role of family
(d) Urban class structure
ofe @ Floc
(e) Jajmani system
TS I
(f) Varna system
SRE IRk

3112 5

5x4 =20
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(g) Unity in Indian society
SRS FACE 43

2. Write a note on tribal movements in India.

SRS TS SeHieTd e Gis forge |

3. Discuss the process of sanskritization in India.

SACS RO A 2H SCHABA! F6e |

4, Explain the significance of family in India.
SRTS #/RRAER Siew i AT 7 |

5. Examine the features of tribal economy in India.

©ie Sorenfs wdAifea ARl oificana s

Group-B
fRetst-2

Answer question No. 6 and any two from the rest

b TR &t @G3R ] (- 715 evaw Tew uw

6. Write short notes on any four from the following:
e C1-ceT o1 e Borm v Bt frges
(a) Zilla Parisad
cereT) SffgEw
(b) Municipality
CRerel
(¢) Industrialization
R
(d) Dalit movement
weTe SrwieT

3112

15

15

15

15

5%4 =20



(e) Globalization

=

(f) Causes of working class movement

= AT AR FI

(g) Internal regulation of village society.

10.

3112

ArTTITS: Sreyefy famae

Define globalization in Indian context.
SIR0SY “AfRCHCe R &0 Qs FF4 |

Write a note on the role of panchayat in India.

SIS AR Sl 2P @ FTo Bt forg

Discuss major issues of women’s movements in India.

OIRCS A SR o1 Ranafer v )

Write a note on village solidarity in India.

SIS altfiet 7Efeq T aiH Bt forg

15

15

15

15



